Chapter 15 Section 3: Budget Deficits and the National Debt
· Balancing the Budget
· The basic tool of fiscal policy is the ________________.
· It is made up of two fundamental parts:
· ___________________________________________________
· When the federal government’s revenues equal its expenditures we have balanced budget.
· ___________________ – the same amount of money going into and coming out of the Treasury.
· In reality, the Federal Budget is never balanced.
· Either we have a surplus or a deficit (shortage).
· _________________ – occurs in any year when revenues exceed expenditures.
· There is more money going into the Treasury than coming out of it. 
· ___________________ – occurs in any year when expenditures exceed revenues.
· When the government has a budget deficit, it means that it did not take in enough revenue to cover its expenditures for that year.
· The government must find a way to pay for the extra expenditures.
· Two ways to do this is…
· _____________________
· Gov’t can create new money to pay the salaries of workers and benefits for citizens.
· Today they can create new money electronically by depositing money into people’s bank accounts.
· When the Gov’t. does this, they are putting more money into circulation.
· This will lead to greater demand for goods and services.
· Then prices will rise because of the demand increase.
· This leads to __________.
· _______________________
· The Fed. Gov’t. can borrow money.
· Can do this by selling bonds.
· Can sell Treasury Bills, Treasury Bonds, or Treasury Notes.
· This will allow the government to undertake more programs with added money.
· This leads to an increase in our national debt.
· __________________________
· The total amount of money the federal government owes to ________________.
· Every year there is a budget deficit, we add to the national debt. 
· The national debt is owed to ______________.
· The growth of the national debt during the Reagan Administration led many to focus on the problem.
· Problem with national debt… it reduces the funds available for business to invest and gov’t. has to pay interest on the debt.
· There have been attempts to reduce the debt each year.
· ________________________________ created automatic across-the-board cuts in federal expenditures to deal with the deficit.
· There are some loop-holes in this act that hurt the general purpose of the bill.
· 1991 – developed a pay-as-you-go plan to deal with the national debt.
· Talk about a Balanced Budget Amendment like the state governments have – but no way this will happen.
· [bookmark: _GoBack]When you have extra revenues available, there is always pressure to spend it in other ways, i.e. Social Security, disasters, and etc, instead of paying off the debt.
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